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& m = _ # it
oA, L5 OB R = & © % & % 4 % 8
1955 T145,002] 7120,888] 124,144
R 12 F Elg % 952 (91,161) 93,434 (83,833) 86,110 (7,328) 7,324
11,485 1244,397] 160,191 184,206 |
R 13 F Elg #% 962 (74,007) 76,505 (67,213) 69,730 (6,794) 6,774
11,004 140,681 127,949 112,733
EOOBR 14 EFRg % 919 (83,066) 83,099 (73,039) 73,066 (10,028) 10,034
11,128 149,567 132,485 117,082]
R 15 F Elg #% 919 (79,358) 80,666 (72,514) 73814 (6,845) 6,852
I1,146] 214,149 204,305 I9,844]
T B 16 £ [Eg # iz (82,434) 83,323 (75,266) 76,146 (7,168) 7177
& (5 486 (72,276) 72,846 (65,195) 65,755 (7,082) 7,090
# 53 - - - -
R %] - - - -
#® -] % - - - -
i & 255 (10,158) 10,478 (10,072) 10,392 (86) 87
i G E #“ # - - - -
= 5 - - - -
# (5 - - - -
R 5 - - - -
#® I % - - - -
i &% - - - -
20 11,752 11,539 1213]
® & i E 468 (49,152) 49,155 (43,535) 43537 (5,616) 5618
= 5 290 (41,926) 41,929 (36,359) 36,360 (5,568) 5,569
# 5 - - - -
R (5 - - - -
#® B % - - - -
il % 177 (7,225) 7,226 (7,177) 7,177 (49) 49
1197 150,056 144,141] 15,915)
M = #® # 21 (2,491) 2,491 (1,801) 1,800 (690) 690
= 5 20 (2,450) 2,450 (1,766) 1,766 (683) 684
# 5 - - - -
R 5 - - - -
#® B % - - - -
il 54 1 (41) 41 (35) 35 (7) 7
r223] 22,7571 [22,288) 468
I - #® # 30 (1,958) 2,277 (1,773) 2,092 (185) 186
] 5 10 (1,244) 1,245 (1,090) 1,090 (155) 155
# 5 - - - -
R 5 - - - -
#® B % - - - -
il % 20 (714) 1,033 (683) 1,002 (31) 31
1593 129,852 | 126,667 13,185
i # @ # 85 (5,509) 5,509 (5,077) 5,078 (432) 432
] 5 31 (3,659) 3,659 (3,228) 3,228 (431) 431
# 5 - - - -
R 5 - - - -
#® B % - - - -
il 54 54 (1,850) 1,850 (1,850) 1,850 (0) 0
r22] 12,665 12,665
1t “® # 84 (17,165) 17,165 (17,145) 17,145 21 21
= 5 84 (17,025) 17,025 (17,005) 17,005 (21) 21
# 5 - - - -
R 5 - - - -
#® B % - - - -
il 54 0 (140) 140 (140) 140 -
r91] 17,0681 17,006 631
oM #® # 53 (6,160) 6,725 (5,936) 6,495 (224) 230
E 5 50 (5,972) 6,537 (5,748) 6,307 (224) 230
# 5 - - - -
R 5 - - - -
#® B % - - - -
il 54 3 (188) 188 (188) 188 -
1 dkEE fa % - - - -
= 5 - - - -
# 5 - - - -
R (5 - - - -
#® B % - - - -
i &% - - - -
roJ 99 199
2 F % fa # 149 (9,682) 9,683 (9,257) 9,258 (425) 425
] 5 26 (4,833) 4,833 (4,438) 4,439 (395) 395
# 5 - - - -
R 5 - - - -
#® B % - - - -
il %] 122 (4,849) 4,850 (4,819) 4,819 (30) 30
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3 & E # 145 (15,946) 15,948 (11,554) 11,555 (4,392) 4,393
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# % - - - -
R % - - - -
#® 5 % - - - -
il % 17 (297) 297 (293) 293 (4) 4
4 73 W #® # - - - -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
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r10] 71,209] 1996 r213]
5 # H E # 163 (21,150) 21,151 (20,423) 20,424 (727) 727
& % 125 (19,081) 19,081 (18,368) 18,368 (713) 714
# % - - - -
R % - - - -
#® B % - - - -
il % 38 (2,069) 2,070 (2,056) 2,056 (14) 14
6 W fio # 12 (2,373) 2,374 (2,301) 2,301 (73) 73
& % 11 (2,364) 2,364 (2,291) 2,291 (73) 73
# % - - - -
R % - - - -
#® B % - - - -
il % 0 (10) 10 (10) 10 (0) 0
7 & B s # 18 (2,331) 2,331 (1,720 1,720 (611) 611
& % 18 (2,331) 2,331 (1,720) 1,720 (611) 611
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
8 & W #® # - - - -
i % - - - -
# % - - - -
R % - - - -
7 B - - - -
5 % - - - -
9 #H XK #® # - - - -
i % - - - -
# % - - - -
R % - - - -
7 B - - - -
5 % - - - -
r25] 15419] 75,136 1283]
108 5 #® =4 - - - -
i % - - - -
# % - - - -
R % - - - -
7 B - - - -
5 % - - - -
"nH E # # - - - -
= % - - - -
# % - - - -
R % - - - -
7 B - - - -
5 % - - - -
12 F % 5 - - - -
= % - - - -
# % - - - -
R % - - - -
# B - - - -
5 % - - - -
BE R # # - - - -
= % - - - -
# % - - - -
R % - - - -
7 B - - - -
5 % - - - -
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# % - - - -
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15 % B s # 2 (119) 119 (46) 46 (72) 72
& % 2 (119) 119 (46) 46 (72) 72
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
7] 1577 1516 I61]
16 & W s % - - - -
= % - - - -
# % - - - -
R % - - - -
#® B % - - - -
Gl % - - - -
178/ #® # - - - -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
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18 & F #® =4 - - - -
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# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
136 T4,270] 13,761 1509
19 11 s # - - - -
= % - - - -
# % - - - -
R % - - - -
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# % - - - -
R % - - - -
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i % 1 (76) 76 (46) 46 (30) 30
T132] 710,418 110,140] 1278]
21 I B s # 10 (1,148) 1,149 (997) 997 (152) 152
& % 10 (1,148) 1,149 (997) 997 (152) 152
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
155] 710,374] 18,452 71,922]
22 % M@ E # - (3) 3 () 3 -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
ol % - (3) 3 (3) 3 -
T15] 71,363] 71,363]
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= % - - - -
# % - - - -
R % - - - -
#® B % - - - -
A % 19 (638) 957 (637) 956 (0) 1
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24 = & o %% 10 (227) 227 (227) 227 -
= % - - - -
# % - - - -
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= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
199 120,472 120,079 1393]
26 W= AB s # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
27 K & # %% - - - -
= % - - - -
# % - - - -
R % - - - -
#® ] % - - - -
Gl % - - - -
1167 744,610 143,880 1730
2 & E s #% 1 (86) 86 (43) 43 (43) 43
& % 1 (63) 63 (20) 20 (43) 43
# % - - - -
R % - - - -
#® -] % - - - -
i % 0 (24) 24 (24) 24 -
199 127,908 127,037] r871]
2% B #“ #H - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
Gl % - - - -
30 #nE L o # 0 (63) 63 (63) 63 -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
A % 0 (63) 63 (63) 63 -
1127 123,648 122,865 1783
31 5 W #“ # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
) % - - - -
r21] 15,540 | 15,213] 1327]
32 85 18 # # - - - -
= % - - - -
# % - - - -
R % - - - -
#® -] % - - - -
) 1% - - - -
143 11,806 71,806
33 [ W #® # 40 (3,968) 3,968 (3,579) 3,579 (389) 389
& % 30 (3,597) 3,597 (3,208) 3,208 (388) 388
& % - - - -
R % - - - -
#® -] % - - - -
A % 10 (371) 371 371) 371 (0) 0
18} 14,542 T4542]
¥ LK B o # 30 (1,059) 1,059 (1,059) 1,059 -
& % - - - -
# % - - - -
R % - - - -
#® ] 3 - - - -
il % 30 (1,059) 1,059 (1,059) 1,059 -
r10] 11,010} 1980 129
3% W A #® # 3 (107) 107 (107) 107 -
= % - - - -
# % - - - -
R % - - - -
#® ] % - - - -
A % 3 (107) 107 (107) 107 -
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76l 7582 T582]
6 & B o # 0 (19) 19 (19) 19 -
= >4 0 (2 2 2 2 -
# % - - - -
R % - - - -
#® 5 % - - - -
il % - (18) 18 (18) 18 -
37 &F I #® =4 - - - -
= % - - - -
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
1161 12,083] 72,083 ]
338 T F s # 18 (4,176) 4,176 (4,173) 4173 [€)) 3
& % 18 (4,054) 4,054 (4,051) 4,051 (3) 3
# % - - - -
R % - - -
#® B % - - - -
il % 0 (122) 122 (122) 122 -
IV E M s #% 66 (12,970) 12,970 (12,952) 12,952 (18) 18
& % 66 (12,970) 12,970 (12,952) 12,952 (18) 18
# % - - - -
R % - - - -
#® 5 % - - - -
Gl % - - - -
r380] 1380
40 & [ s # 1 (97) 97 (96) 96 (1 1
& % 1 97) 97 (96) 96 1) 1
# % - - - -
R % - - - -
#® B % - - - -
Gl % - - - -
1] r519] T519]
41 & B E # 0 (13) 13 (13) 13 -
= % - - - -
# % - - - -
R % - - - -
#® B % - - - -
il % 0 (13) 13 (13) 13 -
T19] T2,114] 72,086 728]
2 Kk & s # 5 (550) 550 (550) 550 -
& % 5 (550) 550 (550) 550 -
# % - - - -
R % - - - -
#® B % - - - -
Gl % - - - -
M2} 958 1958
43 BE K s # 4 (224) 225 (221) 222 (3) 3
& % 1 (60) 60 (57) 57 3) 3
# % - - - -
R % - - - -
#® 5 % - - - -
il % 3 (165) 165 (165) 165 -
1261 T1,772] 1,772]
4 X % E # 8 (1,613) 1,669 (1,611) 1,666 2 3
& % 8 (1,604) 1,659 (1,602) 1,656 2 3
# % - - - -
R % - - - -
#® B % - - - -
il % 0 (10) 10 (10) 10 -
[k 1292 257 35)
45 T &G o # 36 (3,661) 4171 (3,443) 3,948 (218) 224
& % 36 (3,661) 417 (3,443) 3,948 (218) 224
# % - - - -
R % - - - -
#® B % - - - -
Gl % - - - -
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& & - - - -
i % - - - -
R % - - - -
# ] % - - - -
i % - = = z
47 % B @ # - - - -
& & - - - -
& % - - - -
R % - - - -
= ] % - - - -
% - - - _
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